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Cumulative Test @

(2'!). What is the value of the coins?

2. Which fraction equals 19
“7) 4

8 6
A8 B8

4 2
Cs DS

(9,; Write the addition as multiplication,
and then find the total.

6 +6 +6+6 +6

(44}). What fraction of this circle is
shaded?

(5‘3}. Find the missing number:

100 - ] = 70
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6

©1,24)

9

(45,50)

10.

(46)

1.

@9

Add. Write your answer using a
dollar sign and decimal point.

25¢ + 85¢ + 95¢

Find the missing number:
21,28, __,42,49, ...

Find the missing addend:
2 +8+ m=40

If the spinner is spun once, is the
spinner less likely to stop on
1o0r3?

Which fraction equals %?
8 6
Ag Bs
4 2
c 8 D 8

Cheryl’s mother was born in 1978.
How old was she when Cheryl was
born in 2005?
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Cumulative Test @

(521%. Gary made this rectangular shape . 13}.
" with square tiles. The sides of '

each tile are one inch long.

ONY st

Oak St.

=
w—z
m

Elm St.

a. How many inches long is this
rectangle?

b. How many inches wide is this a. Name a street perpendicular to

f?
rectangle? Oak Street.
. . ?
¢. How many tiles did Gary use? b. Name a street parallel to EIm

Street.
13. Add:
22)
$6.99 18. Which shape is a square?
+$4.35 o
A B

14. Complete the table to find the
©% number of inches in 2 feet, 3 feet,
and 4 feet. c

TN

1(3) Write the multiplication as an
addition. Show the sum.

“ Q Q ST
(44)
2(% In6 X 8 = 48, the number 48 is

Feet 1 2 3 4

Inches 12

(1;1252). If one T-shirt costs $5.25, then
" how much do two T-shirts cost?

Pedro said % of the shapes are A addend. B factor.
. 4 C product. D sum.
squares. Samuel said 12 of the

shapes are circles. Who is right?
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